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54,320

21,728

fir

32,592

Al

54,320

21,728

i

Al

32,592

54,320

fir

21,728

Al

32,592

54,320

21,728

i

32,592

Al
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fi
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Al

9,000

4,500

fi
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4,500
4,500

Al

fi

Al
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R
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OH
[0
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Ok

KO
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Ulo
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<
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03 Al
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H
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01

o}
ol
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i

50
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Rl
i

S =]

03 Al 4
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H
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ok

A0
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i
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04 JIZHZENSES
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SN BEHEZAHZA
By 2 EME SENCEENEETIE
Eol: JIEFEE oY @ CERT
K- EB e (8) s= o) ) Rz
SMHHUHE SLIHEZA S & &2
=] =3 9,000
= 4,500
Al 4,500
207 Ao 147,485 144,233 3,252
= 75,061
Al 72,424
03 A& 147,485 144,233 3,252
= 75,061
Al 72,424
= 0l & 147,485 144,233 3,252
= 75,061
Al 72,424
AN A 147,485
= 75,061
Al 72,424
axy ¥ 2Y & 28,000 150,000 A 122,000
= 14,000
Al 14,000
405  RHAHHESHI 28,000 150,000 A 122,000
= 14,000
Al 14,000
01 MMM SEFHS 28,000 150,000 A 122,000
= 14,000
Al 14,000
= 0l & 28,000 150,000 A 122,000
= 14,000
Al 14,000
RN ) 28,000
= 14,000
Al 14,000
&= AL 92,080 110,200 A 18,120
201  LEtI| 11,080 11,200 A 120
01 AFSR2t2ldl 1,080 1,200 A 120
= 0l & 1,080 1,200 A 120
s=9Me3 = 1,080
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2N BEHEdAF2R
BE. 02 82 BME0 ABAN U ZASR(2A/222)
OO JIENE (Y Y BNE AN o (Eo) a9
SH-EH. (AN NRANY - B (o) ) HDE2
02 =524l 10,000 10,000
= 0l & 10,000 10,000 0
ASZALEH FX22] 10,000
202 Ol 1,800 2,000 A 200
01 2LHA I 1,800 2,000 A 200
= 0l & 1,800 2,000 A 200
Fe2el, Y A S IHsEY S
0% 24 900
SSRIMES, ettty & &3 &HF4A 900
207 Ao 79,200 88,000 A 8,800
03 AlEdH 7l 79,200 88,000 A 8,800
= Off &t 79,200 88,000 A 8,800
AE A AL 2 1] 79,200
SNE 00 € W=2dl A& 50,900 50,900 0
= 25,450
Al 25,450
207 A 50,900 50,900 0
= 25,450
Al 25,450
03 AlEd 3l 50,900 50,900 0
= 25,450
Al 25,450
= 0ff &F 50,900 50,900 0
= 25,450
Al 25,450
SHSAMT A THZ HI 50,900
= 25,450
Al 25,450
SMSAMIADZ2 23 XA 25,000 25,000 0
J| 10,000
Al 15,000
101 ol4d| 25,000 25,000 0
J| 10,000
Al 15,000
04 JIZtHZZ2NSE = 25,000 25,000 0
J| 10,000
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EEEEET
SH - SA . EAM20F AIEZEA L ZAIAR(EA/EHY
JIEWeE (Y U BNS ANL o (el ae
M- =3 S92 (3) - HEAY - a2 ggi) @(ijf;ﬁ% HRE2
04 JI2ZtHZ2Z2XNSE S Al 15,000
= 0l & 25,000 25,000 0
Dl 10,000
Al 15,000
Bl ES 2 MY AMEXTH B4(29) 25,000
Dl 10,000
Al 15,000
MBSAMZAD 2 HAIEH 2L XS 50,000 200,000 A 150,000
Dl 50,000
405  XHaHFE S 50,000 200,000 A 150,000
Dl 50,000
01 ANMLEEFSHI 50,000 200,000 A 150,000
J| 50,000
= 0l & 50,000 200,000 A 150,000
J| 50,000
SolItAHI S & X 8,000
J| 8,000
SoHItAAE A X (40H) 12,000
Dl 12,000
AlgAlE WA (3M) 4,800
Dl 4,800
ASAE WS (40) 6,800
Dl 6,800
AAMELE HAFE| 18,400
Dl 18,400
S| 2 O|2AMR =8 AH X (0IM=2 20,080 30,120 A 10,040
)
Fag 20,080
207 AP IoH I 20,080 30,120 A 10,040
Fag 20,080
03 AlE A2 20,080 30,120 A 10,040
hag 20,080
= 0ff A 20,080 30,120 A 10,040
Fag 20,080
AME AL S Y| 20,080
= 20,080
HHSHAY(BAHEZHAR2L)(IIEH/DIEH 12,949,888 12,164,599 785,289
= 22,580
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
Erol: ple 2oyl CER-E
SN BB S(BH) - MBAY - BaS ggi) @(ijf;ﬁ% HRE2
Dl 41,839
Al 12,885,469
oA 2AY| 12,502,046 11,623,101 878,945
= 22,580
Dl 41,839
Al 12,437,627
ol 2A | 12,367,918 11,489,291 878,627
101 o124 H| 12,024,118 11,150,711 873,407
01 2= 11,064,373 10,429,393 634,980
= 0l & 11,064,373 10,429,393 634,980
== 8,117,297
- HEE 2,924,580
42
(96,492,000 +(96,492,000 x78%) *0.9%) 2 194,339
==
-53
(80,476,000 +(80,476,000 *84%) *0.9%) *3 243,254
!
-3 A(32)
89,860,000 +(89,860,000& *78%) *0. 9% 90,491
-2 (432)
(109, 180,000 +( 109, 180, 000 *78%)*0.9%) 439,786
™
- (52)
(102,212,000 +(102,212,0002 %84%)*0.9%) 1,956,710
19%;
S 5,192,717
-62 3,954,600 x7H x12& +1.009 335,177
-72 3,534,200 *13H x12& x1.009 556,298
-82 2,959,900& *4H x12& x1.009 143,354
- 2 A 3,434,000& *100™ «12& *1.009 4,157,888
dz24 5,192,717 ,0002 x1/12%50%*23] 432,727
Al 2He| =& 786,946
=1 14,072& 2 *44 Al 2F« 128 x1.009 14,994
- 63 12,002& x7H 44 Al 2+ * 122 *1.009 44,759
72 10,841 x13H x44 Al 2t x 128 x1.009 75,083
- 832 9,733 *4H x44 Al 2% 122 *1.009 20,742
2 14,1033 x2H *44 Al 2Fx 128 x1.009 15,027
-2 AL
11,569& *100H 44 Al 2128 x1.009 616,341
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
Erol: ple 2oyl CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
o224 53,599
A2 AL 3,856& *7H *8A| 2t*2462 x1.009 53,599
ERARS 100,000%12H = 12& 14,400
s 125,760
Hi < Xt 40,000& 110 »12& 52,800
IR A AE M RIS (A=Y S
) 20,000& 58 x12& 13,920
0 (DIE 20,000& x60H x12& 14,400
=M X 60,000& 42 x12& 30,240
0 (DIE 100,000& 12 x12& 14,400
0 Y 1,200,000& x7H «12& 100,800
HI2LE Jat=2 91,560
- 208 01 & 100, 000& *38H x12& 45,600
- 153 -20& 0] 2+ 80,000& x19H x12& 18,240
- 108 -15 0] 2t 60,000 x26H x12& 18,720
- 5E-10E 0] e+ 50,000& *15H x12& 9,000
HI24Y FIOIHAS 11,280
20 -25E 0] oF 10,000& x10H x12& 1,200
254 0] & 30,000& x28 x12& 10,080
2R 76,080
=23 50,000& *98H x12& 58,800
93 40,000& *36H x12& 17,280
HesRAx-< 209,883, 740& x4 1%x12& 103,263
HISRAFY 50,000& *3H x12& 1,800
Ex(Jz=dE4+Y) 8,760
62, 73 30,000& x10¥ x12& 3,600
83 20,000& x2H x12& 480
CIJRMZ2(O0IsE, JIAN
30,000& *10H = 12& 3,600
JFAEZ (AHH DI AF 20,000& x2H x12& 480
IS (2EF) 10,000 x5H 128 600
ZULPLH(FMSHALYR)
250,000& x15H «12& 45,000
EX(HRINB2IAAD2 4G
80,000& *120¥ ~12& 115,200
EL(HIALEIAZ 323014
60,000& x1H x12& 720
EX(EE, 2L
200,000& x1H x12& 2,400
DIAA LG 50,000& x1H ~12& 600




SN BAEAA
MM HH2AHAH(EHESZHR)(JIEH/IIE)
CHel: ol 2] S
% = = 0l &FoH & S T 0] AFoH ~
A& .S (3H)- - HEAY - HAS (ZE o) (I o) Hns2
o Z ALY 140,000 153 128 257,040
E=ESE=lN 5,192,717,0002 1/ 12x60%*23] 519,272
AILE A HI(HEZ 43014)
(724,616,000 x78%) *86%+11/360 14,853
HAIIEMHI(HEZ 58)
(243,254,000 *84%) *86%* 11/360 5,370
LB A (o2 2)
(1,956,710,000%84%) *86%+11/360 43,192
HILEAHI (E2R)
5,192,717,0002 x86%+11/360 136,454
02 JIEtEE A 89,396 84,021 5,375
= 0f| At 89,396 84,021 5,375
=23 82,502
BT HI(H 2 53)
81,926,000 +(81,926,0002 *78%) *0. 9% 82,502
EHY 2,160
b < Xt 40,0002 1H 122 480
CHIRX XAE M RUNS(HASH S
) 20,0008 x4 « 128 960
=3 (DUIE] 60,0002 x 1« 128 720
o Z Al 140,000 * 122 1,680
o I} 2 AHH 82,502,000 *78%*86%+11/360 1,692
n2gsa 82,502,000 *1.65% 1,362
03 RIAHAZ2RE 870,349 637,297 233,052
=0l A 870,349 637,297 233,052
2R g 798,837
IE3(2NEXALHIMS)
(2,511,220 202 « 122 )x1.08-132,860, 00 518,049
0
_O‘:J
P 10,320
-Hi R Xt 40,0002 «7H 122 3,360
-HHRT X MQ RUINE (XA EH
%) 20,0002 « 19 » 1228 4,560
=l (DIE 20,0002 x4 « 122 960
1 PIE 60,0002 x2% x 122 1,440
CHEta Xt &HH X & 300,000 *3 900
o 3 AlH| 140,000 20 « 122 33,600
o E S| 2,511,220 »20 Y »40%*23] 40,180
SN P = 3,386,060 *36%*20% x 13| 24,380
AXRIEIHY
11,8002 «BAl 2+ %202 x 17 32,096
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
Erol: ple 2oyl CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
TEYUST 11,8002 Al 21504202 22 5,664
gxz
3,637,846+ (10,224/365)+2,966,632+(3,414/ 129,648
365)
gAEZ= 2,000,000& 2 4,000
5t 282 71,512
202822 666,933,000& *4.5% 30,012
NEEERE=2 666,933,000& *1.65% 11,005
MATHEEES 2 666,933,000& *0.853% 5,689
AULEEEE=2 666,933,000& *3.335% 22,243
oM QAEEREEZ
22,243,000 *11.52% 2,563
204 NP AY| 343,800 338,580 5,220
02 MzE2X 343,800 338,580 5,220
= Ol & 343,800 338,580 5,220
HRABSHE) 500,000 x12& 6,000
HARAUSHE) 400,000& »4H x12& 19,200
4= 400,000 x2H x12& 9,600
52 250,000 x3H x12& 9,000
62 165,000& »7H x12& 13,860
3 155,000& 13 x12& 24,180
83 145,000 »4H =« 12& 6,960
o2 250,000& x19H «12& 57,000
A2 A 165,000 *100¥ 128 198,000
Q2L (FTRZYY E2LZAMA 29) 24,000 24,000 0
= 12,000
Al 12,000
101 o124 4| 24,000 24,000 0
= 12,000
Al 12,000
03 RIAHLZ2ZXHE S 24,000 24,000 0
= 12,000
Al 12,000
= Ol & 24,000 24,000 0
= 12,000
Al 12,000
SIHAZ2Z2NES (1Y) 24,000
= 12,000
Al 12,000
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2N BEHEdAF2R
B wEEAL(PASAAH)(IIE/IIE)
Erol: ple 2oyl CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
ol =2dHl(Mol= & H8uY XXM BX) 48,000 48,000 0
J| 24,000
Al 24,000
101 elAd4| 48,000 48,000 0
J| 24,000
Al 24,000
03 RIHAZZNE=S 48,000 48,000 0
| 24,000
Al 24,000
=0l & 48,000 48,000 0
J| 24,000
Al 24,000
PIOAHAZZRNE S (2Y) 48,000
J| 24,000
Al 24,000
olHA2AY|(IGRA A X&) 35,678 35,360 318
J| 17,839
Al 17,839
101 elAd4| 35,678 35,360 318
J| 17,839
Al 17,839
03 RJHLdZ2=2NHE S 35,678 35,360 318
| 17,839
Al 17,839
= 0l & 35,678 35,360 318
Il 17,839
Al 17,839
fIHLZZNE 35,678
J| 17,839
Al 17,839
ol 2IHI(AES? ZAF X&) 26,450 26,450 0
= 10,580
Al 15,870
101 o244l 26,450 26,450 0
= 10,580
Al 15,870
03 RJHAsZ2NHE S 26,450 26,450 0
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2N BEHEdAF2R
Y HN2AAY(BHSEARA)(DIEHDIE
Erol: ple 2oyl CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
03 SRJHAZZ2NES = 10,580
Al 15,870
= 0ff &F 26,450 26,450 0
= 10,580
Al 15,870
2IHA2 2N E > 26,450
= 10,580
Al 15,870
=34l 447,842 541,498 A 93,656
Jl23l 447,842 541,498 A 93,656
201 LBt 49| 103,920 113,808 29,888
01 At 2eltl 103,920 113,808 A 9,888
= 0ff &F 103,920 113,808 A9,888
FA2Z 28| 23,900
SEAHEIZARZ 20,200
S=AMAE L 3,700
=AY 43,380
EASFAHAIZE 36,600
S=AMAE L 6,780
J2ged S| 36,640
202 O dl 231,500 310,920 AT9,420
01 =UWHYl 231,500 310,920 AT9,420
= 0l & 231,500 310,920 AT9,420
ERS ] 231,500
EHEZALEA 203,594
S=AMAE L 27,906
203 YR F&Hl 54,462 63,080 A8,618
01 J229YRFAH| 18,480 23,760 25,280
= 0l & 18,480 23,760 25,280
2 E(32) 6,600, 000& *70% 4,620
HE 2 AT (42) 3,300,000 x6H x70% 13,860
02 FHIIMHRFAH 11,088 12,200 AT, 112
= 0l & 11,088 12,200 A1,112
100 Dt K| 80,000 x100Z *90% 7,200
101-300< It X 60,000 72 *90% 3,888
04 2EN2IHRFAH| 24,894 27,120 A2,226
= 0l & 24,894 27,120 A2,226
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
Ce: I3l (e &
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
AP A 300,000& *12& *90% 3,240
2EYHARE 400, 000& *12& *90% 4,320
AT AHIRE 405,000& *12& *90% 4,374
olstg3d e 475,000& =12 *90% 5,130
SSFARE 425,000& =122 *90% 4,590
SEAMAIE A 300,000& *12& *90% 3,240
204 NP AY| 57,000 53,400 3,600
01 AR HAH| 57,000 53,400 3,600
= 0l & 57,000 53,400 3,600
2H(33) 650,000& x12& 7,800
LIE S AXR4Z) 350,000& x6H x12& 25,200
& (53) 100, 000& *20H = 12& 24,000
405  XHaHFE S 960 290 670
01 XML =SSFSHI 960 290 670
= 0l & 960 290 670
A2AZ Ok 240,000 =4 CH 960
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